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3.700 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
150.97  (kN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)3700x (B)2500
0.120

=

10kN/m?

3.700

H=

B= 2.500

OéJZO

No.



§3
3.1

3.1.1
@

ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
205.39 55.69 0.349 3.70 2.13 150.97 13.34 | 0.K.
0.417 1.50 1.50
e = 0.349

150.97

13.34

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
181.59 55.69 0.402 3.24 1.88 142.72 2.56 | 0.K.
0.417 1.50 1.50
RIS
e = 0.402

142.72

2.56

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 445 86.4
” o ) 0.76 x 10° 49.29 x 10°
3 3
S ™ 3.28 x 10 42.97 x 10
ogc 0.52 5.97
(N/mm*) o ca 10.00 10.00
gs 6.3 138.4
(N/mm*) o sa 160 160
T 0.04 0.20
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 86.4 44.5
M o ) 49.29 x 10° 4.88 x 10°
3 3
S 0 14.04 x 10 22.88 x 10
gc 5.97 3.37
(N/mm*) o ca 10.00 10.00
gs 138.4 40.2
(N/mm*) o sa 160 160
T 0.06 0.29
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

x ¥

No.



4.2.1
@
D
A X y A X Ay
(m m @) | (m (m () ()
2.500x 3.700= 9.250 | 1.250 | 1.850 11.5625 17.1125
al- 0.140x 0.700= -0.098 | 0.190 | 3.350 -0.0186 -0.3283
b|-1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
c|- 1.840x 3.440= -6.330 | 1.180 | 1.980 -7.4694 -12.5334
d|-1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
e - 0.400x 3.580= -1.432| 2.300| 1.910 -3.2936 -2.7351
1.069 0.5482 1.0875
a
Vo=XA L= 1.069 x 1.000 = 1.069 (m*)
o
V. =Vo yc= 1.069 x 24.5= 26.19 (kN)
A X 0.5482
X s A 1.069 0.513 (m)
TA Yy 1.0875 C,
y A 1.069 1.017(m)
@3]
D
A X y A X Ay
(m m @) | (m (m ) )
2.380x 3.580= 8.520 | 1.310| 1.910 11.1612 16.2732
a|-1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b|- 0.140x 0.140= -0.020 | 0.190 | 0.190 -0.0038 -0.0038
c|-1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
8.179 11.0127 16.0227
Vo=XA L= 8.179 x 1.000 = 8.179 (m*)
V. =Vo ys= 8.179 x 19.0 = 155.40 (kN)
a
A X 11.0127 \
X = s A 8.179 1.346 (m)
b C
Ay 16.0227 €
y A 8.179 1.959 (m)

No.



4.2.2
V =g b L=10.0x 2.380 x 1.000 = 23.80 (KN)
x =B -2 = 2500 - 2% _ 1 310m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h = 3.700 (m)
Pa
a = 0.00 () kN/m)
W o= 96.84 (kN/m) [ 21.45] 5y
@ = 59.90 (°)
5 = O.OO(O) s00 00—
@ = 30.00 (°)
25.0
% 4 =0 z;o 70 80 90
w()
ba 96.84 x sin(59.90 - 30.00)
cos (59.90 - 30.00 - 0.00 - 0.00)
= 55.69 (kN/m)
OO T T T
W Pa W
64.00 54.966 81.49
63.00 55.278 85.12
59-90° 62.00 55.507 88.83
61.00 55.640 92.60
60.00 55.685 96.45
* 59.90 55.685 96.84
59.00 55.642 100.38
58.00 55.500 104.38
57.00 55.273 108.48
56.00 54.958 112.68
55.00 54.544 | 116.97
V = 55.69 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 55.69 x cos( 0.00 - 0.00) x 1.000 =  55.69 (kN)
X = 2.500 (m)
y = ~3-700 = 1.233 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.500 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.500 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.500 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 26.19 0.513 | 1.017 13.44
2 155.40 1.346 | 1.959 209.17
3 23.80 1.310 | 3.700 31.18
4 55.69 | 2.500 | 1.233 68.67
z 205.39 55.69 253.79 68.67
HHJ@M [
2
. —
V.
Fs = >V p +c B L 205.39 x 0.577 + 0.0 x 2.500 x 1.000
B T H B 55.69
= 2.13 Fsa = 1.5
> Mr 253.79
Fs = s Mo 68.67 3.70 Fsa = 1.50
R
> Mr - X Mo 253.79 - 68.67
d = sV ) 205.39 = 0.901 (m)
R
e = 2 -d= 2-500 - 0.901 = 0.349 (m)
le] = 0.349 (m) 4%* B = 0.417 (m)



3)

C]1_ZV 6 e

205.39 6 x 0.349

¢ B L Htg )T

150.97 (kN/n?)
13.34 (kN/?)

150.97

x (1%
2.500 x 1.000 2.500

Iininm

e = 0.349
|

13.34

B = 2.500

)

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 26.19 0.513 | 1.017 13.44
2 155.40 1.346 | 1.959 209.17
3 55.69 | 2.500 | 1.233 68.67
z 181.59 55.69 222.61 68.67
Fgo_ZV P +c B L _ 18150 x 0.577+ 0.0 x 2.500 x 1.000
- ZH - 55.69
= 1.88 Fsa = 1.5
> Mr 222.61
Fs = s Vo 68.67 3.24 Fsa = 1.50
R
> Mr - X Mo 222.61 - 68.67
d = sV 181.59 = 0.848 ()
R
e = 2 -d= 2'200 - 0.848 = 0.402 (m)
1
le] = 0.402 (m) 5 B = 0.417 (m)



No.

3)

¢ _ ZV . 6e 181.59 , 6x 0.402
¢ B L 5 )7 250x 100 ¢ (L 2.500 )
142.72 (kN/m?)
2.56 (kN/m)

2.56

142.72
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6.2
6.2.1
1)
a = 2.92(C)
W o= 8.20 (k\/m) [ 4.78]
@ = 55.70 (°)
& = 20.00 (°)
@ = 30.00 ()
ba - 8.20 x sin(55.70 - 30.00)

" cos (55.70 - 30.00 - 20.00 - 2.92)
3.56 (kN/m)

No.

\ 55.70°

—

Innnnmmmmm

Pa
i
3.0]
2.0l
1.0]
0% "4 50 60 70 8 9 100
0 ()
w Pa W
60.00 3.512 6.97
59.00 3.535 7.25
58.00 3.549 7.53
57.00 3.555 7.81
56.00 3.556 8.10
* 55.70 3.560 8.20
55.00 3.552 8.40
54_.00 3.539 8.70
53.00 3.524 9.02
52.00 3.499 9.34
51.00 3.471 9.68

17



2)

No.
Pa
a = 2.92(C) gr/m)y
W = 103.22 (kN/m) [ 23.91] R
w = 56.80 () 40.0]
o = 20.00 (°)
@ = 30.00 (°) 30.0]
20.0
10.01
0-% 4 50 16‘0 70 80 90 100
w()
Py = 103.22 x sin(56.80 - 30.00)
cos (56.80 - 30.00 - 20.00 - 2.92)
=  46.65 (kN/m)
IO T T T
W Pa W
61.00 46.054 88.53
56.80° 60.00 46.303 91.90
59.00 46.488 95.35
58.00 46.604 98.88
57.00 46.643 102.48
* 56.80 46.646 103.22
56.00 46.609 106.17
55.00 46.493 109.94
54.00 46.299 113.81
53.00 46.013 117.76
52.00 45.652 121.85
H =Pa cos(® +a) L
L ( ) L =1.000 (m)
Pa o a H y
(kN/m) ) ) (kN) (m)
3.56 20.00 2.92 3.28 0.233
46.65 20.00 2.92 42 .97 1.147

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 3.28 (kN)
H y=3.28x 0.233
= 0.76 (kN m)
H = 42.97 (kN)
H = 42.97 x 1.147
= 49.29 (kN m)

b = 1000 (mm) [0 0 0 0 0 © |:}5£

d = 80 (mm)

As = D19 - 6.5 ! 1000 !

= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 1862 2 x 1000 x 80

= 1+ /14

1000 15 x 1862
=  44.5 (mm)

M= 0.76 (kN m)
S = 3.28 (kN)
_ 2 M _ 2 x 0.76 x 10°
b x d- Ag, 1000 x 44.5 x (80 - 444%;5,)
= 0.52 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.76 x 10°
- X - 44.5
As d - 3 1862 x (80 - 3 )

= 6.3 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 3.28 x 10°
~ b d 1000 x 80
= 0.04 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
8
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
= 86.4 (mm)
M= 49.29 (kN m)
S = 42.97 (kN)
2 M 2 x 49.29 x 10°
oc= x 86.4
b x d—T 1000 x 86.4 x ( 220 - 3-)
=  5.97 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o= M _ 49.29 x 10°
- X - 86.4
As d - 3 1862 x ( 220 - 3 )
= 138.4 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 42.97 x 10°
" b d 1000 x 220

0.20 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
)
2.240
A X
(m m ) (m A x (m)
2.240x 0.260= 0.582 1.120 0.6518
-1/2x 1.840x 0.140= -0.129 1.227 -0.1583
- 0.400x 0.140= -0.056 2.040 -0.1142
0.397 0.3793
A X 0.3793
X = s A = 0.397 0.955 (m)
S =A yc L= 0.397 x 24.5 x 1.000 = 9.73 (kN)
M =S x = 9.73 x 0.955 = 9.29 (kN m)

a—h]

No.

21



&)

A X
(m m ) (m A x ()
2.240x 3.580= 8.019 1.120 8.9813
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
7.890 8.9022
A X 8.9022
X = 5 A = 7800 - 1.128 (m)

S =A ys L= 7.890 x 19.0 x 1.000 = 149.91 (kN)

M =S x = 149.91 x 1.128 = 169.10 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.240 x 1.000 = 22.40 (kN)

x
1]

1.120 (m)

M =S x= 22.40x 1.120= 25.09 (kN m)

Q




©)
D

2)

Q:
Q2

Qs

150.97 (kN/n?)
13.34 (kN/?)

G + (G- G) 44%3,: 13.34 + ( 150.97 -  13.34)x ;::gg
136.66 (KN/m*)

@ +q) I L ( 136.66 + 13.34) x 2.240 x 1.000

2 - 2
168.00 (kN)
L 2 g +q _ 2.240 2 x 13.34 + 136.66

3 o + O -3 13.34 + 136.66
0.813 (m)

S x = 168.00 x 0.813 = 136.58 (kN m)

142.72 (kKN/?)
2.56 (kN/m)

O + (- Qz) B
128.14 (kN/m?)

L (

2.240

142.72 - 2.56)x Lo

(@ +q) I L ( 128.14 +  2.56) x 2.240 x 1.000
2 - 2
146.38 (kN)
I 2 g +Q _ 2.240 2 x 2.56 + 128.14
3 o + O -3 2.56 + 128.14
0.761 (m)
S x = 146.38 x 0.761 = 111.40 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 9.73 9.29
2 149.91 169.10
3 -168.00 -136.58
4 22.40 25.09
14.04 66.90
Mo = 49.29 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 9.73 9.29
2 149.91 169.10
3 -146.38 -111.40
13.26 66.99
Mo = 49.29 (kN m) M
M = Mo

49.29 (kN m)




7.3

No.
&
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 220
= 1+ /14
1000 15 x 1862
86.4 (mm)
M= 49.29 (kN m)
S=  14.04 (kN)
2 M _ 2 x 49.29 x 10°
b x d- Ag, 1000 x 86.4 x ( 220 - 82'4 )
5.97 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 49.29 x 10°
X - 86.4
As d - 3 1862 x ( 220 - 3 )
138.4 (N/mm?*) osa= 160 (N/mm*) 0.K.
s 14.04 x 10°
b d 1000 x 220
0.06 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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§8

8.1

€))

O]

A=b

A=b

w
1]

h= 0.400 x 0.120 =

A yc L=

S x =

0.048 x 24.5

1.18 x 0.200 =

h= 0.400 x 3.580 =

A ys L=

S x = 2

1.432 x 19.0

7.21 x 0.200 =

0.048 (m)

x 1.000 =  1.18 (kN)
0.24 (kN m)

1.432 (%)

x 1.000 = 27.21 (kN)

5.44 (kKN m)

No.

26



3

©)
D

Q:

Qs

10.00 (kN/m*)

g b L=

0.200 (m)

S x =

10.00 x

4.00 x

150.97 (kN/n?)
13.34 (kN/?)

g + (q1 -

0

1.
0z) B
35.36 (kN/m?)

0.400 x 1.000 =  4.00 (kN)
.200 = 0.80 (kN m)
0.400
= 13.34 + ( 150.97 - 13.3)x o

(@ +q) I L ( 35.36 + 13.34) x 0.400 x 1.000
2 - 2
9.74 (kN)
I 2 g +q _ 0.400 2 x 13.34 + 35.36
3 o + O -3 13.34 + 35.36
0.170 (m)
S x = 9.74x 0.170 =  1.66 (kN m)

No.

27



8.2

2)

D

2)

No.

o = 142.72 (KN/m)
o =  2.56 (KN/m)
G =g + (G- G) Aéi: 2.56 + ( 142.72 -  2.56)x gé%
= 24.99 (kN/m)
s (@ +q) L L ( 24.99 + 2.56) x 0.400 x 1.000
2 2
= 5.51 (kN)
y I 2 @ +q _ 0.400 2 x 2.56 + 24.99
3 o + O T3 2.56 + 24.99
= 0.146 (m)
M = S x = 551 x 0.146 = 0.80 (kN m)
No S M
(kN) kN m)
1 1.18 0.24
2 27.21 5.44
3 -9.74 -1.66
4 4.00 0.80
b3 22.65 4.82
No S M
(kN) kN m)
1 1.18 0.24
2 27.21 5.44
3 -5.51 -0.80
b3 22.88 4.88
S = 22.88 (kN)
Moo= 4.88 (kN m)

28



8.3

No.
b = 1000 (mm) [0 0 0 0 0o o] &
d = 80 (mm) ‘ 1000 ‘
As = D19 - 6.5 ‘ ‘
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 80
= 1+ /14
1000 15 x 1862
44.5 (mm)
M= 4.88 (kN m)
S = 22.88 (kN)
2 M _ 2 x 4.88 x 10°
b x d—% 1000 x 44.5 x (80 - 4;"'5)
3.37 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 4.88 x 10°
X - 44.5
As d - 3 1862 x (80 - 3 )
40.2 (N/mm*) osa= 160 (N/mm*) 0.K.
S 22.88 x 10°
b d 1000 x 80
0.29 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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